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  ערך הקשת)למחצית כלומר שווה צידו השני,  מיתר זה מהנשענת על     

      
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0 0sin sin n nx x x      ,      
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2

0 x
  .  
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dx


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3 2 2

1 1

2 2
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t t sin
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
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ctg a
3 3ctg a ctga tana          
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   ,  

      
2 6

a k k    ,  
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0 a
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  המשך בעמוד הבא        
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x xx x
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      
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1 3 0

2 1
1m f      _ i  

  המשיק:   משוואת           
2 2

1y x y x       _ i  

שיעורי נקודת החיתוך של המשיק עם הישר      
6

x     

  ) : B(הנקודה      

      
6 6 2 3 6 3

B ,x y            _ i  

      
  

ABC

3 BC AC

2 2
S S S

    ueuuen t ;hgx'  

יחידות שטח   0.952      
  2

3 33 3

2 2 2 18
S

      ueuuen  

    (ג)  
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2

6
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3 6 3 6
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



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 6 1 1

2 6 18 3 6 3 18
g g g

         _ i _ i _ i    

  מכאן:    
6 18

ag g   _ i _ i  
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